A 78 F TS TISX] 2IHHL! EF OjEI0] 7|EAE SR

Hs NEQY HEY O /R =R HE/+Y | EF¥mI) S7tHQ(mg) | miE FHE[Q(mg) | SR(9)
TMER Xs 3u| 2| Aelol/2AH 0= ER H= 250 60 0.24 0
R &8 2612 LTS FAUS|A 24T H= 400 80 0.20 85
THMEER X oL x| 3L W= H= 240 70 0.29 19.1
EHEE nHYYHEE AHXIEZI Ho|AE 0| =/H EH =9 250 80 0.32 204
THMEE HEE o1x|EFA SMEEG /RAER|0LAR|A =9 250/355 62.5/88.75 0.25 216
EHEE ZEE 30| E ofc|Hd SMSER /2AER|0L =9 250 62.5 0.25 216
SR O AEL 2EtE20{2|/e4Y H= 280 50 0.18 8
EHEE UE Ot CiE gL (F)aZ[do= H= 250 100 0.40 13
SR YE O oty AE (F)3ZH[Ho| = H= 250 100 0.40 0
EHEE Hi7bEA B2t || £33 Crelfej/ygzs =9 250 38 0.15 23
THMEER 22E ou4x| A7LEESEE)/SHENOf| 0| X|E|H| &) H= 355 100 0.28 231
Ehbg R 2AFH OfjuX| gE2t A7t EE/HHENO 0| X|ElH| & R ES 355 100 0.28 ]
g2 2AE Of|L{X| 2E2} A E2t A7HE2 S EE/SHENo 0| X|ElH| &) H=E 355 100 0.28 0
SR 22E 04X] gE2t gt2tcto| & A7tEetS 2&/sHEf o0 X|E|H| &) Hz= 355 100 0.28 0
cHgE 228 ouX| HE +H A7HE2ZEE/SHENo 0| X|ElH| &) HE 355 100 0.28 0
-1 2AF Of|LiX| Tto| ZatIHXA| A7tE S EE/HHENO 0| X|ElH| & R ES 355 100 0.28 19.7
HMEE Z22E04X| ¥ 23 A7tE S 2E/CHE 0] 0] X|E|H| &) H= 355 100 0.28 225
-1 W o x|E}3 X|op3 SotEE/@USEYTE HzE 250 60 0.24 23.2
SR EEl= 2% G| HO|2/HYY H= 250 150 0.60 18.6
SR el U X HY/ A0 ZSEE H= 350 175 0.50 1.7
SR MAO|A ATHERY UX[Y GA L3/ 2 2] 0] A OF =2 325 100 0.30 0
cHigE MAlojA AnbEY FX|0IE H o3¢ @AILHE /L o] Ao > 325 100 0.30 0
HMEE 29 HO|AE 0| =/HEE =9 330 73 0.22 376
EHIEZE OK(YA) ARG/ EUREE I Hz= 250 150 0.60 208
EHgE ojux] £33 fAE R AEIRZ|o/@YY H= 250 77 0.31 20
EHIEZE E{Lo|E GSZ[HIY/@UREH I T Hz= 250 120 0.48 29.6
EHIgE X|o3 oY o {X E-¥S SoABE/EUSEY T H=E 250 60 0.17 18.4
EHgE FHLpHI2 o 4X| £} 2t =wz| (FHLLIEAATH 0|4/ A E 2|0} > 250 80 0.32 224
EHgR w2 (REIEEHZHH2|X| 23 2|0l/ 3 LBF H=E 250 80 0.32 0
EHIEZE Fz|EH| X =E-F A0 =ZE FAB|A H= 355 100 0.28 175
2R AzZ|AFH|OHX EYIAR R Aoz FAZ|M H= 355 100 0.28 0
EHIEZE 30| X| 22 of|LX| 2fYEH 0l 0f| 0| X|#| 0] O] 1= 59/ 1| E & +=¢ 250 100 0.40 9.6
EHgE 0| X2 of|L4X| Y E 0| 0f| 0| X| #| 0] 0| k= A1)/ | E & =9 250 100 0.40 9.6
TSR EtHIL HAE FELLR/RA0|=ZZEE Hz= 355 103 0.29 0
EHgE EtE7} 22|x|d FELIR/2H 0|0 ZEER H= 355 104 0.29 0
EHgE B2 WX ojlu{x| E¥3 Bt (FHLLIEAATH 0| /5 F ¢ 330 105 0.32 0
EHgE EIEN EL YT ES 250 60 0.24 23.1
ISR AL Y 24 ROPEESER H= 355 100 0.28 0.8
EHgE ML Y AF ROBESER H= 355 100 0.28 0.6
ISR AL P A2 ROELSEF) Hz= 355 100 0.28 0
EHgE M2 Y T ROBESER H= 355 100 0.28 236
ISR A A Y HA ROPESER H= 355 100 0.28 13
EHgE SAA OY A EL YT ES 355 100 0.28 0.6
TMER YA IS ROPESER H= 250 60 0.24 232
EHgE SHAA THAJZHC REBESER Hz= 250 60 0.24 12
[ FRE T35 of/0|Qkot =< 250 80 0.32 4
sus=s 239 g0f glo| j:fi;gfgﬂ;‘““"akmﬂgg S 100 97.32 097 6




s HEY O /R =R RESES E35%(mI) E7HHQA(mg) | miT FHEQl(mg) | R(9)
48 HYEAUIE S¥FaB Hz= 500 75 0.15 20.8
49 A0 A 2t=H|2|opAto| 2 RIE|SH @AILHE /L o] Ao LES 325 100 0.30 0
50 dAlojA TA| Y2 DRIE|S EA|LH2 /22 0| Alof H= 325 100 0.30 0
51 ojx| 2E BR22UFE R ES 150 150 1.00 2
52 AlH|2 He{RAE @IAHAT| A/F N2 ALYFEA0] Hz= 100 100 1.00 15.7
53 ol x| GAHEH| 2 H= 120 230 1.92 4
54 Ftetete ouX| =33 F A 3| AF OFE/ENT =9 250 50 0.20 344
55 Z2|0/g Al oA EE/EYAEHISH Hz= 150 30 0.20 17
56 0| o L{X| Z2E FHH Q! @EDMt =MBY H= 100 60 0.60 13
57 RHLZEH Ao x] ROEEEES H= 500 120 0.24 2
58 4| AHPO| EHof|L{ x| ROPESER H= 500 120 0.24 0
59 Z20|M 2YUIE| A MNZELUR BES 250 % 0.38 128
60 ZROHUIEF NZRU® H= 250 59 0.24 184
61 HLEE @rlylo|xuto| YA /HHZ S H= 150 48 0.32 13
62 Hiopa =29 Y3E| SEFaB Hz= 250 50 0.20 26.4
63 Hat247tU3E @M o =Ab| H= 250 375 0.15 19.2
pgnkd SOl BAl-Znof 2ot HE M4azxe| AQ| 7IF0f w2t Fimel 30| meT 0.15mg 0| Y o8t Y| 5




